OSCILLATING HIGH PRESSURE ARCH, Model OR1

The Stainless Steel Oscillating Top and Stationary Side
High Pressure manifolds provides an even spray of the vehicle with up to
1000 Lbs. of pressure. Top Oscillator blasts the front, top and rear of vehicles.
Stationary Side Manifolds the sides, tires and rockers areas.

SPACE REQUIREMENT

120’

129” 27”

A. ARCH w/STATIONARY
PN
ot i [ SIDE MANIFOLDS
EEE) : B. TOP OSCILLATOR

9611

<\

< A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153
5 Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www. avwequipment.com

pUTOS




OSCILLATING HIGH PRESSURE ARCH, Model OR1

4.1

B. TOP OSCILLATOR

ASSEMBLY

ITEM | Description PART NUMBER |[QTY
1 ARCH w/Screw Fastener Sets AA0Q 1
A LEG w/STATIONARY SIDE MANIFOLD AA1A 2
B TOP OSCILLATOR ASSEMBLY 0sic 1
a W/PLATE 1
b w/SQ.U BOLTS 3/8"" SIZE and UB-SQ0375x1400 2
c WASHERS 3/8” and FW38 4
d HEX NUTS 3/8”° HN3816 4
2 MOTOR MOUNT ASSEMBLY, 1

2.2 HYDRAULIC MOTOR TB1ADBM 1
- 90° 1/2”°JIC -1/2’NPT, 2/MOTOR SAE070202-8-8 2

OSCILLATING DISK SBZADBA 1

- W/HEX NUTS 1/4”° HN1420 2

41 OSCILLATING ARM ASSEMBLY 0S1CBB-17 2
- BALL JOINT ROD END1/2-20 BJ1/2-20 4

- SHOULDER BOLT 1/2’x2"°LG SB1ABD1 4

- w HEX NUT 3/8’’ and HN3816 4

- TREADED ROD 1/2”* x 17°Lg 0S1CBB1-17 2

- CAM ARM 0S1-CAM1 2

5 TOP MANIFOLD, 24”°LG OS1DMA 2

5a MEG NOZZLES 1/4, (#0504), Stainless Steel 1-4MEG-0504 16
5b HYDRAULIC HOSE (3/8” x 5’ LG) 1
5¢c FEEMALE TEE 1/2” 1
5d 1/27°JIC -1/2’NPT, MALE SAE070102-8-8 1
5e 90°1/27°JIC -1/2"’NPT, MALE SAE020202-8-8 1
5f 90° Street ELBOW 1/4” NPT, Stainless Steel EL90-5-304025 16
5¢ PLUG 1/2” PLUGPP050 2
6.1 UHMW BLOCK MANIFOLD PO1C2 4
6.2 UHMW SPLIT COLLAR, 1’’0.D. RT10DA 2

A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153

Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www.avwequipment.com




